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101|R#A7 L 300 222 78| Kg |EE 2,484 54|EfE 1,728 540
102|357 L 1,999 1,999 Kg S - BIE 3,305 579
111|&EEF £ 506 37 469 Kg |EE 756 130|ERE - &40 1,890 405
113|RAV S 35 2 33| Kg |&I 972 377| 1,944 1,404
114|B5EFE 202 202| Kg ERE - BE 2,592 324
15[ 1= 1 1 Ke |EE 2,160

117[1E 15 15| Kg R 3,672 1,404
121|hbixE 148 131 17| Kg |EE= 1,080 540| & 1,404 792
134[#= = 155 75 80| Kg |3#B-EE 3,024 2,300|m#8 3,024 2,376
137|&5E.3. < 6 6| Keg Ri% 3,888 3,564
138|Hm % 2 55 20 35| Kg |£EE 864 =35 972 864
140(5 I 22 22| Kg I35 45,360 14,400
147|EZ O 111 111| Kg 8 8,640 4,000
168|BIEM AL H 335 335| Kg IR 1,944 1,620
201|{Lb L 758 758| Kg BE - A=)l 432 144
203|/Né L 127 127| Kg 3= 351 297
205|5u8 L 569 569 Kg ML 518 332
206| 1 560 560| Kg BER 864 475
208| Mo % 334 334| Kg ML 1,728 605
210{1F AL 72 72 Kg [iO 5,400 1,836

212|&5E.3 Y 205 205| Kg K5 2,592 1,458
251|< £ <3 547 282 265 Kg |=# 4,320 3,564 | Kl 4,050 3,780
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252|LWAEXECA 131 131 Kg |EA 2,052 1,285

254|EDT2ELCAH 367 367 Kg 2P 2,106 1,134
303[A 27z 10 10| Kg R 713 605
315|7: b5 6 46 46| Kg = I 2,268

3191 h o 405 91 314 Kg |EE 1,404 1,242({F0FkL - KB 1,512 1,000
332|115 WA EF 189 189 Kg JbF 2,484 2,160
351|4£ 8 15 5 10 Kg |[®E 4,104 2,700 (2= 3,942

3541 <Y 136 100 36| Kg |TFE 1,620 1,404|+E 1,404 1,242
3/5|HEY) 270 15 255| Kg |ZEA 1,080 540|Z A - FE 1,620 600
356|L LA 25 25 Kg SR 1,080 972
357\ E 46 46| Kg FEE 1,782 432
362| & 54 5 491 Kg |=3 216 BJE 2,700 756
401|H W 24 241 Kg Iz & 1,944 1,188
4025 5 &E 20 20 Kg H[E 4,860 4,320
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512| A& AL 70 70| Kg b 1,450 594
523| A EARAT 2 O 307 307| Kg =] 5,724 473
54| ARE & 2V 40 40| Kg =] 1,256
5h4|E X BA AR 50 50[ Kg b 950
558| 10 10| Kg b 972
560|487 2 223 223|  Kg =] 2,750 1,850
566|4R A < 10 10| Kg b 900
5764 X 1F 75 75| Kg b 950
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HLYBDA 283 283 Kg i 2,160 1,188
Wb LET 60 60| Kg =) 1,890 1,836
LL»dAF 4 4] Kg JbimE 10,232
EFHu 23 23| Kg EiR 2,592 960
BEAE 14 14| Kg JbmE 1,049

Bd L 53 53| Kg BE 825 589
R ET 74 74| Kg BE 1,080

by HAZE 6 6| Kg fOFR L 2,844

=% L 108 108| Kg =l 3,900 1,440
R 68 68| Kg B[ #=I==ps1 1,950 1,458
1B E 273 273 Kg Bl =2 783 579
AAT 56 56| Kg B[=2 3,240 1,782
—WEAE 20 20| Kg JbimE 734
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